PART LIST

GH-GMD/SAC/SLD/GSL

No

DESCRIPTION

PIECES

CODE

Pump GMD2
Pump GMD2.5
Pump GMD3
Pump SAC2
Pump SAC2.5
Pump SAC3
Pump SLD2
Pump SLD2.5
Pump SLD3
Pump GSL2
Pump GSL2.5
Pump GSL3

Shaft key 8x7x40 Steel st37
Shaft key 10x8x50 Steel st37

Adaptor 2inch
Adaptor 2.5inch
Adaptor 3inch

Gear box FA41
Gear box FC61

Gear box flange IEC90B5
Gear box flange IEC112B5
Gear box flange IEC132B5

Gear box base

Hex screw M8x30
Hex screw M10x30

Hex screw M8x35
Hex screw M10x35

Hex screw M8x25
Hex screw M10x25

www.emikam.com




	Διαφάνεια 1

